

August 07, 2024

To,
Department of Corporate Services,
BSE Limited,
P. J. Towers, Dalal Street,
Mumbai – 400 001.

Scrip Code: 523888

Dear Sir/Ma'am,

<u>Sub: Intimation regarding issue of Duplicate Share Certificate under Regulation 39(3) of SEBI (Listing Obligations and Disclosure Requirements) Regulations, 2015</u>

Pursuant to Regulation 39(3) of the Securities and Exchange Board of India ('SEBI') (Listing Obligations and Disclosure Requirements) Regulations, 2015, please find enclosed herewith a copy of the 'Register of Renewed and Duplicate Share Certificates' received from Link Intime India Private Limited ("RTA") on August 07, 2024 for the duplicate share certificate issued in lieu of the lost/ misplaced original share certificates.

Further, in accordance with the SEBI Circular No. SEBI/HO/MIRSD/MIRSD_RTAMB/P/CIR/2022/8 dated January 25, 2022, a letter of confirmation in lieu of the physical share certificate will be issued to the concerned shareholder within the prescribed timelines.

You are requested to kindly take the same on record.

Thanking you,

Yours Sincerely,
For V.R. Woodart Limited

Shagufta Sadikot
Company Secretary & Compliance Officer
Membership No. A72982

Encl: a/a

FORM NO. SH - 2

CIN No.: L51909MH1989PLC138292

Register of Renewed and Duplicate Share Certificates



[Pursuant to sub-section (3) of section 46 of the Companies Act, 2013 and rule 6(3)(a) the Companies (Share Capital and Debentures) Rules 2014]

Name of the Company: V R Woodart Ltd.

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distinct shares	ive No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
1	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		16014	100	1601301	1601400	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
2	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		16091	100	1609001	1609100	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
3	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		16608	100	1660701	1660800	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
4	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		16802	100	1680101	1680200	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
5	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		17100	100	1709901	1710000	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ve No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То				•		
6	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		17164	100	1716301	1716400	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
7	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		17611	100	1761001	1761100	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
8	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		18763	100	1876201	1876300	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
9	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		18768	100	1876701	1876800	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
10	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		18835	100	1883401	1883500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
11	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		18896	100	1889501	1889600	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ve No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
12	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		18897	100	1889601	1889700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
13	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		19686	100	1968501	1968600	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
14	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		19996	100	1999501	1999600	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
15	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		20030	100	2002901	2003000	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
16	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		20712	100	2071101	2071200	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
17	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		21822	100	2182101	2182200	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ve No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
18	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		21859	100	2185801	2185900	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
19	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		21935	100	2193401	2193500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
20	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		22689	100	2268801	2268900	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
21	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		22694	100	2269301	2269400	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
22	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		23376	100	2337501	2337600	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
23	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		23695	100	2369401	2369500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ve No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
24	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		24135	100	2413401	2413500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
25	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		24295	100	2429401	2429500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
26	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		24346	100	2434501	2434600	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
27	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		24702	100	2470101	2470200	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
28	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		24774	100	2477301	2477400	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
29	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		25057	100	2505601	2505700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distinct shares	ive No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
30		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		26104	100	2610301	2610400	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
31		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		26109	100	2610801	2610900	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
32		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		26118	100	2611701	2611800	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
33		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		26505	100	2650401	2650500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
34		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		26579	100	2657801	2657900	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
35		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		27295	100	2729401	2729500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distinct shares	ive No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
36	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		27947	100	2794601	2794700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
37	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		29307	100	2930601	2930700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
38	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		29749	100	2974801	2974900	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
39	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		29750	100	2974901	2975000	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
40	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		29790	100	2978901	2979000	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
41	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		29967	100	2996601	2996700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ve No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
42	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		30758	100	3075701	3075800	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
43	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		31025	100	3102401	3102500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
44	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		31751	100	3175001	3175100	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
45	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		32525	100	3252401	3252500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
46	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		32529	100	3252801	3252900	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
47	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		32583	100	3258201	3258300	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ve No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
48	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		32769	100	3276801	3276900	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
49	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		33625	100	3362401	3362500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
50	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		33657	100	3365601	3365700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
51	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		34056	100	3405501	3405600	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
52	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		34398	100	3439701	3439800	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
53	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		35857	100	3585601	3585700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distinct shares	ive No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
54		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		36748	100	3674701	3674800	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
55		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		36993	100	3699201	3699300	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
56		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		38715	100	3871401	3871500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
57		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		38717	100	3871601	3871700	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
58		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		38741	100	3874001	3874100	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
59		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		39110	100	3910901	3911000	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. No.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ve No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
60	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		39322	100	3932101	3932200	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
61	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		39482	100	3948101	3948200	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
62	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		40014	100	4001301	4001400	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
63	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		40015	100	4001401	4001500	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
64	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		40042	100	4004101	4004200	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
65	0031856	MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		40174	100	4017301	4017400	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate

S. Io.	Folio No.	Name of the person(s) to whom Renewed / Duplicate share certificate is	Date of approval of issue of Renewed/ Duplicate share	Class of shares	Date of issue of original share certificate	Original share certificate number	Total number of shares in the Original Share Certificat	Distincti shares	ive No. of	Date of issue of Renewed/ Duplicate Share Certificat e	Reasons for issue of Renewed/ Duplicate Share Certificat	Number of the Renewed/ Duplicate Share Certificat e, if applicable	Total Number of Shares in the Renewed/ Duplicate Share Certificat	Referenc e to entry in Register of Members	Remarks
								From	То						
66		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		40983	100	4098201	4098300	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
67		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		41633	100	4163201	4163300	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate
68		MEGA MARKET SHARE RESOURCES LTD	06/08/2024	Equity		9040828	100	4082701	4082800	07/08/2024	Lost By Holder	59140	100	TN500007	Duplicate